

LAUREN SHAPIRO

05/15/2025 09:00 AM | Day 1 - Delivery & Install Cladding + Partial 05/16/2025 09:00 AM | Day 2 - Finish Drape , Start After Party 05/17/2025 08:00 AM | Event Date - Install Ceremony + Touch Ups 05/18/2025 09:00 AM | Strike -

PO: Shipping Address: Hotel Bel Air Invoice Date:
Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Supplies					
	Custom Made truss Covers for Lighting after Party 12"x12"x 14'H with Velcro	2	\$140.40	Т	\$280.80
	Shield Covers - TBD until final confirmation (35) Taupe Velvet, (25) Burgundy Velvet	40	\$5.85	Т	\$234.00
			Total Supplies		\$514.80
Ceremony					
	Props - Carts - Display Cart W/ Drawing - Limone Painted: TBD , Sandra to Paint the sign 8WâN 1 40âN 1 179âN 1 H	1	\$936.00	Т	\$936.00
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	95	\$29.25	T	\$2,778.75
			Total Ceremo	ony	\$3,714.7
Cocktail					
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	15	\$29.25	Т	\$438.75
		Total Cocktail		tail	\$438.75
Reception Entr	ance				
	Custom Made Seating Card Wall - TBD Desing to be discuss on meeting _ Price will range from 1500 to 2500	1	\$0.00	Т	\$0.00
		Total Reception Entrance		\$0.00	
Reception : Cla	dding				
	Custom Cladding To Truss Structure Painted : White Mocha , (18 Legs) 13'H , 529' Truss Top	1	\$58,500.00	Т	\$58,500.00
		Total Reception : Cladding		\$58,500.00	
Reception : Dra	aping				

Description		Qtty	Price		Total
	Outer Pullbacks - Fabric Treatment in Light Taupe Chiffon with No Backing (30)10'W x 16'H, Creating Pullbacks in Between Legs	1	\$8,997.30	Т	\$8,997.30
	Inner Pullbacks - Fabric Treatment in Light Taupe Chiffon with No Backing (20) 10'W x 16'H, Creating Pullbacks Coming into the Room,	1	\$3,978.00	T	\$3,978.00
	Ceiling Treatment in Light Taupe Chiffon with No Backing Cover Stage and dancefloor with Romantic swags and Over the Bar area	1	\$17,550.00	Т	\$17,550.00
	Tech Drape	2	\$0.00	Т	\$0.00
		Total Reception : Draping			\$30,525.30
Stage Back Dro	p				
	Panels - Flat Arched Alcove Arch to be White Mocha , Inside to be Mesa Taupe 8'W x 10'H	3	\$936.00	Т	\$2,808.00
	New! - 12" Scones (6 to go to stage + 4 to the Barback)	10	\$351.00	Т	\$3,510.00
	Fabric Treatment in Light Taupe Chiffon with Backing 5'W x 16'H	4	\$234.00	Т	\$936.00
		Total Stage Back Drop		rop	\$7,254.00
Reception: Furr	niture and Lighting				
	New! Ashli Drum Chandelier For Over Dining tables and Over the Bar	11	\$585.00	Т	\$6,435.00
	Barback - Curved Alcoves W/ Shelves - 3 Arches Painted in Mesa Taupe with Insert in Floral Texture Wall Paper Painted 50 % Lighter 22'W x 18"L x 10'H	1	\$4,095.00	Т	\$4,095.00
	Bars - Bora Bora - Wood & Rattan Square Full Set Bar Painted in Mesa Taupe with Insert in Floral Texture Wall Paper Painted 50 % Lighter 12'W x 12'L x 44"H	1	\$4,680.00	Т	\$4,680.00
	Dining Table - Las Vegas - Colored Top 8'x40" Wrapped in Beige Como Velvet With trim all the way around 8'W x 40"L x 30"H - Custom Top & Base Color Upon Request	2	\$936.00	Т	\$1,872.00
	Dining Chairs - Monaco - White Wash 17âM M âM IX	105	\$29.25	Т	\$3,071.25
P	Club & Lounge Chairs - Panama - Taupe Velvet 32"W x 31"D x 30"H	4	\$210.60	T	\$842.40
	Accent Tables - Curved White Painted in Mesa Taupe	2	\$140.40	T	\$280.80

Description		Qtty	Price		Total
	Total	Reception:	Furniture and Light	ting	\$21,276.45
After Party : Dra	ping				
	Drape - Burgundy Velvet Drape Approx 350 linear feet , pickups for behind Cake table and Pullbacks	1 s,	\$6,552.00	Т	\$6,552.00
	Stage Backdrop - Burgundy Velvet With Overlapping Pullbacks To go behind DJ- Please see image reference - Pipe and base and bring the Wall half Way forward	1	\$2,632.50	Т	\$2,632.50
		Tot	Total After Party : Draping		\$9,184.50
After Party : Fur	niture				
	Dj Fronts - Aged Tile Front 6'W x 36.5"L x 40H"	1	\$468.00	Т	\$468.00
	Bars - New York - Folding 8' Bar - New York - Folding 8' - Burgundy Channeled Velvet	1	\$1,053.00	T	\$1,053.00
	8'W x 30"L x 42"H - Color Change Upon Request				
	Small Dining Tables - Las Vegas - Mirror Top Round 48 For Cake Table, Wrapped in Burgundy Velvet, with Fringe on Top 48"Diam x 30"H	3" 1	\$643.50	T	\$643.50
	Dining Chairs - Washington - Gold Frame Burgundy Cushions 19"W x 23"L x 37"H - Back & Seat Cushion Cover Color Upon Reques	18	\$22.23	Т	\$400.14
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' Burgundy Velvet Covers 6'W x 39"L x 30"H	2	\$351.00	Т	\$702.00
1	Small Dining Tables - Antique Brass Round 40"Diam x 30"H	2	\$321.75	T	\$643.50
A	Club & Lounge Chairs - Beverly Hills - Accent Chair Blu W/ Gold Legs Custom Cover inBrugundy 26"W x 32"L x 35"H	ish 4	\$409.50	T	\$1,638.00
	Coffee Tables - Moscow - Mirror Top W/ Gold Frame 48"W x 24"L x 17"H	1	\$234.00	Т	\$234.00
	Mix & Match Pillows in Burgundy + Gold	4	\$29.25	Т	\$117.00
		Total After Party : Furniture		ture	\$5,899.14
Afterparty : Fran	200				

Description		Qtty	Price	Total
	Mirror Frames - Gold Frame Pizarra 02 15"W x 27"H - Custom Lettering/Artwork upon request	6	\$11.70 T	\$70.20
	Mirror Frames - Gold Frame Pizarra 01 26.5"W x 28"H - Custom Lettering/Artwork upon request	3	\$11.70 T	\$35.10
	Mirror Frames - Florence - Wall Pizarra 03 (2 max) 21.5"W X 25.5"H - Custom Lettering/Artwork upon request	2	\$11.70 T	\$23.40
		Total Afterparty : Frames		\$128.70
Services				
	Day 1 - Thurs Delivery , Cladding + Partial Draping	12	\$600.00	\$7,200.00
	Day 2 - Fri - Finish Drape , Chandeliers + Furni + Start Afterparty	10	\$600.00	\$6,000.00
	Event Day - Sat Install Ceremony + Touch Ups	6	\$550.00	\$3,300.00
	Event Day - Stand Bys will Strike Ceremony	4	\$450.00	\$1,800.00
	Sunday - Strike Team	8	\$650.00	\$5,200.00
	Transportation	5	\$500.00 T	\$2,500.00
	Flame Proofing	1	\$3,000.00	\$3,000.00
	Manager on site - Diagrams , etc,	1	\$5,000.00	\$5,000.00
	Rendering	1	\$3,000.00	\$3,000.00
	Presentation Fee	1	\$5,992.00	\$5,992.00
Please make checks payable to Revelry, Inc.			Total Products:	\$137,436.39
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total La	\$42,992.00	
		V	\$5,497.46 \$2,748.73	
Notes			Packing (2.00%): Taxes :	\$2,746.73
			Discounts:	(\$0.00)
			Total:	\$201,968.53
			Payments:	(\$0.00)
			Balance:	\$201,968.53